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Which one of the following is primarily
responsible for conduction of current in a

metal ?

(a) Bound electrons
(b) Free electrons
{c) Both bound and free electrons

(d) Ions
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Which one of the following is primarily
responsible for conduction of current in a

metal ?

(a) Bound electrons
(b) Free electrons
{c) Both bound and free electrons

(d) Ions

ANS :B
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An infinite combination of resistors,
having resistance R = 4 Q, is given belov.
What is the net resistance between the points

A and B ? (Each resistance is of equal value,
R=4)

g T g e —L
Ao—AMAAA AAMA
”
Ré// %R %R éR ........ .
- R v R ’
Bo AN

(a) Ohﬂ/

b 2+2/50Q )<
) 2+J50Q
d «Q

A —W=] . "
4 Ko
[ = —
e, | ) ((
A \
\\/Mmffa/ (

X+ 16+ 9% = 4X +X

A = 4K~ 14 =0
W

EXAMS
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EXAMS

An infinite combination of resistors,
having resistance R = 4 Q, is given belov.
What is the net resistance between the points
A and B ? (Each resistance is of equal value,
R=4)

R .
Ao—AWW AW

R R R B i oo

R R
Bo MWW

(@ 0Q

b 2+2/50Q
© 2+5Q
(d =Q

Answer: (C)
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Consider the following electric circuit :

—n— cwvrenf il ol j ﬂwﬁb The
5Q —0Q — 5Q ) m“ﬁﬁn(‘,e - /Da b.(L
)i _109 /9??)/ Q{WV‘&/U)F
. 1,10V e hn 5 Yejsfome = 5 4 + 54
The current in the above electric circuit is : - / B _(L
y/ 1A o
(b  (10/15) A +1,- J
=
() 2A l
[oV
d 15A

i} = Vo/forft//?GTU’ﬁﬂf dff- = Jov_ = 14
egupvelent ottt 100
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Consider the following electric circuit :

e— XY Y —
10Q

AW — A ——AAA—

5Q 0Q 5Q

——AWW—
10Q

10V

IT

The current in the above electric circuit is :
(a) 1A

(b) (10/15) A

() 2A

d 15A

Answer: (A)
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What is the total resistance in the following
circuit element ?

R
1. B N

W R =

R

(a) R/2 _]/)@M/‘fcf

(b) 3R

E iy

(d) 2R/3

A ik oz
\ R
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What is the total resistance in the following
circuit element ?

R
1. ST e Answer: (C)
—AMWWA—
—\WW— R
R
(a) R/2
(b) 3R
(¢) 3R/2

(d) 2R/3
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The cost of energy to operate an
industrial refrigerator that consumes
5 kW power working 10 hours per day
for 30 days will be

(Given that the charge per kW.h of

energy =¥ 4) / —

d Py = £ ki)

LB ¥ 6,000 : e

(€©) T 1,200 _ Time =~ /0% 30 = 300 hre.
d) ¥ 1,500 T

EMUV [((_I/_Of)) = 5x300 = [500D _/fﬁﬂ_

Sop XY= 4 6000
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The cost of energy to operate an Answer: (B)
industrial refrigerator that consumes

5 kW power working 10 hours per day
for 30 days will be
(Given that the charge per kW.h of

energy = ¥ 4)
(a) < 600
(b) ¥ 6,000
(c) ¥ 1,200

(d) T 1,500



NDA & CDS 2 2024 - REVISION - PHYSICS — CLASS 6 EXAMS

Consider the following part of an electric

circuit : mmﬂ/—?g-—(b

Loy Lol Lo I3l - 2>
AR & v ¢ § ¢

@ 15 ohm f“m/h//

15
(b) - ohm . g o @ JL
() 150hm 9,
(d) 17 ohm

3

——
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Consider the following part of an electric

circuit :
2 ohm
WA
/ 4 ohm 1 ohm
8 ohm

The total electrical resistance in the given part
of the electric circuit is

15

(a) 3 ohm
(b) 15 ohm
7
(e) 15 ohm
17

— oh
(d) 30m

Answer: (B)

[T=]
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Consider the following circuit :
R\
R i P

el T

Which one of the following is the A
value of the resistance between points
A and B in the circuit given above?

=R
(a) T

J 2R 3/2/‘?

c) -gR A . W 1/ ﬂvg __}’( |
d) 4R N _ 52?

hr 4 reslefors

avallof \ kL = 3K
[ of uvwfen ridone, = Rfe = 2K 5

ap—

Rr + Ry ) 3R/3 +R
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Consider the following circuit :

R
;—Q& «M"(»/ - Answer: (B)
A R
VWA

Which one of the following is the
value of the resistance between points
A and B in the circuit given above?

2

SR

(a)
(b) -R

R

NiWw i

(c)

(d) 4R
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Which one of the following is the value
of 1kWh of energy converted into

joules 7

(&) 18x10°7 . IT = [0 x [

\}]a’)/3-6><1061 | /kb\\f)

() 6-0x1061 | ._, Psner (wabt -—od) - @nzAW/

@ 72x10°7 =k % h Werk  (Toule

= 1000 w3 x 36003 - 7)
= 3( x)‘ob WS Time (S'Qmﬁfffy
= 30 73/06 J
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Which one of the following is the value
of 1kWh of energy converted into
joules 7

(a) 1-8x106J

Answer: (B)

(b) 3-6x10°]
(c) 60x10°)
(d) 7-2x10%J
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Which one of the following devices is
non-ohmic ?

o

(a) Conducting copper coil

(b) Electric heating coil
y Semi conductor diode

(d) Rheostat

[T=]
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Which one of the following devices is .
fionsolmme ) Answer: (C)

(a) Conducting copper coil
(b) Electric heating coil

(¢) Semi conductor diode

(d) Rheostat
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Which one of the following can charge
an insulator ?

(a) Current electricity
(b) Static clectricity
(¢) Magnetic field

(d) Gravitational field
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Which one of the following can charge

an insulator ? Answer: (B)

(a) Current electricity

(b) Static clectricity
(¢) Magnetic field O
(d) Gravitational field
uMaM Cf’“rd’“’/ —

( r%w/afor) (nsu ofot

-
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A current of 1-0 A is drawn by a filament of an
electric bulb for 10 minutes. The amount of

electric charge that flows through the circuit is

(a) 01C
(b) 10C
(¢c) 600C

(d) 800C
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A current of 1-0 A is drawn by a filament of an Answer: (C)

electric bulb for 10 minutes. The amount of

electric charge that flows through the circuit is

(a)
(b)
(c)
(d)

0-1C

10C ¢

800 C )

(Am/)m) C!ecmdf)
?‘U'M) x(foxéos)

— 600 C

EXAMS
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Which one of the following correctly
represents the SI unit of resistivity?

- / [uﬁﬁw (ﬁ esnductoy

(b) ©/m K= f_L T
(c) Qcm / A\/ hd &5

Jﬂ)/ L Reisfonce Yodj ¢ fivi /
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Which one of the following correctly Answer: (D)
represents the SI unit of resistivity?

(@ Q
(b) Q/m
(c) fcm

(d) Qm
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Which one of the following formulas does not
; [e—
represent electrical power ?

J@ i;f p~ pt diff g owmreof
def VI
& VAR 4
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Which one of the following formulas does not
represent electrical power ?

(@ I°R
b IR’
() VI
@ V*/R

Answer: (B)
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An electric circuit is given below. V; =1V and

Resistance R = 1000 Q.
oA

-V R

©B

The current thro-ugh the resistance R is very
close to 1 mA and the voltage across point A
and B, Vyg'= 1 V. Now the circuit is changed
to:

OA

TV _'|'- v, IR

°oB

where value of V, = 5V, The internal
resistances of both the batteries are 0-1 Q.
The current through the resistance R is
about :

(a) 10 mA
(b) 1-2mA
\}/ 3-0 mA
(d 50mA

g

w\\
N
3\

-
2 |
_|._

h
\)

V)
!
)
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An electric circuit is given below. V; =1V and

Resistance R = 1000 Q.
oA

=V, R

oB

The current thro-ugh the resistance R is very
close to 1 mA and the voltage across point A
and B, V,g'= 1 V. Now the circuit is changed
to:

A

-V —.I.- V, . R

©B

where value of V, = 5V, The internal
resistances of both the batteries are 0-1 Q.
The current through the resistance R 1is
about :

(a) 1-0mA
(b) 1-2mA
(¢) 30mA
(d 50mA

ANS :C

[T=]
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MAGNETISM

B
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Which one of the following statements
about magnetic field lines is NO
1. correct? A
(a) They can emanate from a point A
(b) They do not cross éach other \/ § — N

(c) Field lines between two poles

cannot be precisely straight lines at
the ends

\j,dj/ There are no field lines within a bar
magnet ‘
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Which one of the following statements
about magnetic field lines is NOT
1. correct? |

Answer: (D)

(a) They can emanate from a point
(b) They do not cross each other

(c) Field lines between two poles
cannot be precisely straight lines at
the ends

(d) There are no field lines within a bar
magnet '
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The magnetic ficld strength of a current-
carrying wire at a particular distance
2. from the axis of the wire
: depends upon the current in the
wire
(b) depends upon the radius of the
wire
(¢) depends upon the temperature of
the surroundings

(d) None of the above

_,,V?’\
po=fol

SN

B x 9

—

EXAMS
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EXAMS

The magnetic ficld strength of a current-
carrying wire at a particular distance
2. from the axis of the wire Answer: (A)
(a) depends upon the current in the
wire
(b) depends upon the radius of the
wire
(¢) depends upon the temperature of
the surroundings

(d) None of the above
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Consider the following statements
about a solenoid :

¢l./ The magnetic field strength in a ’JW

solenoid depends upon the
number of turns per unit length in S
the solenoid B

he magnetic field strength in a - /’(9 N 2,’
solenoid depends upon the current

flowing in the wire of the solenoid k} Y . % %Tn[ fw U'ﬂﬁl [WJ ﬁ) /

3. The magnetic field strength in a
solenoid depends upon the
diameter of the solenoid p<

Which of the: statements given above
are correct ?

(a) 1., 2 and 3
(b) 1 and 3 only
(¢) 2 and 3 only

yflandzonly
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Consider the following statements
about a solenoid :

1. The magnetic field strength in a
solenoid depends upon the
number of turns per unit length in
the solenoid

2. The magnetic field strength in a
solenoid depends upon the current
flowing in the wire of the solenoid

3. The magnetic field strength in a
solenoid depends upon the
diameter of the solenoid

Which of the: statements given above
are correct ?

(a) 1., 2 and 3

(b) 1 and 3 only
(¢) 2 and 3 only
(d) 1 and 2 only

Answer: (D)

==

EXAMS
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- Which one of the following statements
regarding magnetic field is NOT
4. correct?

(a) Magnetic field is a quantity that
has direction and magnitude ~

(b) Magnetic field lines are closed
curves -

\}Z)/ Magnetic field lines are open

curves

(d) No two magnetic field lines are
found to cross each other
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- Which one of the following statements

regarding magnetic field is NOT
correct ? _

(a) Magnetic field is a quantity that
has direction and magnitude

(b) Magnetic field lines are closed
curves

(c) Magnetic field lines are open
curves

(d) No two magnetic field lines are
found to cross each other

Answer: (C)
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Consider the following image :

+ Proton

>

e

_.,..' Magnetic field
—

—
—
—
—
—_—

A proton enters a magnetic field at
right angles to it, as shown above. The
direction of force acting on the proton
will be

(a) to the right
(b) to the left
(c) out of the page

(d) into the page
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Consider the following image :

+ Proton

>

e

_.,..' Magnetic field
—

—
—
—
—
—_—

A proton enters a magnetic field at
right angles to it, as shown above. The
direction of force acting on the proton
will be

(a) to the right
(b) to the left
(c) out of the page

(d) into the page

Answer: (D)
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Imagine a current-carrying straight conductor

with magnetic field of lines in anti-clockwise _(Z
direction. Then the direction of current is B -
determined by v C[
wwc{c
(a) the Right-Hand Thumb rule and it O/ A “wl d’q / W
would be in the downward direction. 90«’8’ S‘ e

(b} the Left-Hand Thumb rule and it would

be in the downward direction. /f am.f\; 0/’0 («kwﬁf e @ufg ;d& / U]pm rO{Q \
- -

y the Right-Hand Thumb rule and it

would be in the upward direction.

(d)  the Left-Hand Thumb rule and it would
be in the upward direction. 0{
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Imagine a current-carrying straight conductor
with magnetic field of lines in anti-clockwise
direction. Then the direction of current is

determined by
(a) the Right-Hand Thumb rule and it

would be in the downward direction.

(b} the Left-Hand Thumb rule and it would

be in the downward direction.

(c) the Right-Hand Thumb rule and it

would be in the upward direction.

(d) the Left-Hand Thumb rule and it would

be in the upward direction.

Answer: (C)
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The magnetic field produced by a
current-carrying straight wire at a point

outside the wire depends B ~ /& (12
= Mo § < L
- Y
<

\(})’ inversely on the distance from it
(b) directly on the distance from it

(c) inversely at short distances and
directly at large distances from it 1A

) - o
(d) directly on the distance (at short ’#
distances) and inversely on the
distance (at long distances) from it

e
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EXAMS

The magnetic field produced by a
current-carrying straight wire at a point
outside the wire depends

Answer: (D)

(a) inversely on the distance from it
(b) directly on the distance from it

(c) inversely at short distances and
directly at large distances from it

(d) directly on the distance (at short
distances) and inversely on the
distance (at long distances) from it
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According to Fleming’s right-hand rule, if
the forefinger indicates the direction of
magnetic field and thumb shows the
direction of motion of conductor, then
the stretched middle finger will predict
the direction of

(a) force acting on the conductor
(b) electric field
(c) induced current

(d) current
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EXAMS

According to Fleming’s right-hand rule, if
the forefinger indicates the direction of
magnetic field and thumb shows the
direction of motion of conductor, then
the stretched middle finger will predict
the direction of

Answer: (D)

(a) force acting on the conductor
(b) electric field
(c) induced current

(d) current
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A DC generator works on the principle of
(a) Ohm'’s law
(b) Joule’s law of heating

(c) Faraday’s laws of electromagnetic
induction '

(d) None of the above
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A DC generator works on the principle of
(@) Ohm’s law Answer: (C)
(b) Joule’s law of heating

(c) Faraday’s laws of electromagnetic
induction '

(d) None of the above
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EXAMS

The presence of magnetic field can be
determined using which one of the
following instruments?

(a) Ammeter
(b) Voltmeter
(c) Magnetic needle

({d) Motor
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EXAMS

The presence of magnetic field can be

determined using which one of the Answer: (C)
following instruments?

(@) Ammeter
(b) Voltmeter
(c) Magnetic needle

({d) Motor
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A positive charge is moving towards south in
a space where magnetic field is pointing in the
north direction. The moving charge will

experience :

(a) a deflecting force towards north
direction,

(b)  a deflecting force towards east direction.

(¢c) a deflecting force towards west
direction.

(d) no deflecting force.
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A positive charge is moving towards south in Answer: (D)
a space where magnetic field is pointing in the
north direction. The moving charge will

experience :

(a) a deflecting force towards north
direction,

(b)  a deflecting force towards east direction.

(¢c) a deflecting force towards west
direction.

(d) no deflecting force.



NDA & CDS 2 2024 - REVISION - PHYSICS — CLASS 6

Choose the incorrect statement from the following regarding magnetic lines of

field

A. The direction of magnetic field at a point is taken to be the direction in which the
north pole of a magnetic compass needle points

B. Magnetic field lines are closed curves

C. If magnetic field lines are parallel and equidistant, they represent zero field
strength

D. Relative strength of magnetic field is shown by the degree of closeness of the field
lines -
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Choose the incorrect statement from the following regarding magnetic lines of

field

A. The direction of magnetic field at a point is taken to be the direction in which the
north pole of a magnetic compass needle points

B. Magnetic field lines are closed curves

C. If magnetic field lines are parallel and equidistant, they represent zero field
strength

D. Relative strength of magnetic field is shown by the degree of closeness of the field
lines -
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For a current in a long straight solenoid N and S poles are created at the two ends. Among the

following statements, the incorrect statement is

(a) The field lines inside the solenoid are in the form of straight lines which indicates that the magnetic

field is the same at all points inside the solenoid

(b) The strong magnetic field produced inside the solenoid can be used to magnetize a piece of

magnetic material like soft iron, when placed inside the coil

(c) The pattern of the magnetic field associated with the solenoid is different from the pattern of the

magnetic field around a bar magnet

(d) The N- and S-poles exchange position when the direction of current through the solenoid is

reversed.



NDA & CDS 2 2024 - REVISION - PHYSICS — CLASS 6

For a current in a long straight solenoid N and S poles are created at the two ends. Among the

following statements, the incorrect statement is

(a) The field lines inside the solenoid are in the form of straight lines which indicates that the magnetic
field is the same at all points inside the solenoid

(b) The strong magnetic field produced inside the solenoid can be used to magnetize a piece of
magnetic material like soft iron, when placed inside the coil

(c) The pattern of the magnetic field associated with the solenoid is different from the pattern of the

magnetic field around a bar magnet

(d) The N- and S-poles exchange position when the direction of current through the solenoid is

reversed.
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A constant current flows in a horizontal wire in the plane of the paper from east to
west as shown in Figure 13.5. The direction of magnetic field at a point will be North

to South

(a) directly above the wire

(b) directly below the wire

(c) at a point located in the plane of the paper, on the north side of the wire

(d) at a point located in the plane of the paper, on the south side of the wire
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A constant current flows in a horizontal wire in the plane of the paper from east to
west as shown in Figure 13.5. The direction of magnetic field at a point will be North

to South

(a) directly above the wire

(b) directly below the wire

(c) at a point located in the plane of the paper, on the north side of the wire

(d) at a point located in the plane of the paper, on the south side of the wire
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The strength of magnetic field inside a long current carrying straight solenoid is
(a) more at the ends than at the centre

(b) minimum in the middle

(c) same at all points

(d) found to increase from one end to the other
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The strength of magnetic field inside a long current carrying straight solenoid is
(a) more at the ends than at the centre

(b) minimum in the middle

(c) same at all points

(d) found to increase from one end to the other
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To convert an AC generator into DC generator
(a) split-ring type commutator must be used
(b) slip rings and brushes must be used

(c) a stronger magnetic field has to be used

(d) a rectangular wire loop has to be used
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To convert an AC generator into DC generator
(a) split-ring type commutator must be used
(b) slip rings and brushes must be used

(c) a stronger magnetic field has to be used

(d) a rectangular wire loop has to be used
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REVISION
TOPICS :

e Miscellaneous Topics

(13/08/24)
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